> A
A & 0l & AF 2 E A A
202298 & =04 LBHSIH SMESH M
SH: BMESEMY
M AS SR DBt
Sl ASI=T BB CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SMBSZF Y 719,917,870 699,073,423 20,844,447
= 416,037,012
J| 2,120,120
= 175,442,588
T 5,900,000
£ 120,418,150
A3 =X LB 44,200 49,300 25,100
AEI=X SEXH 44,200 49,300 25,100
SNHHEA 25 29 44,200 49,300 25,100
201 et 44,200 49,300 25,100
01 At 22l 44,200 49,300 A5,100
oesggd X3 7,650,000 7,650
OSUEEZ0F HEAs 29 7,650,000 7,650
OMESAA I At 29 28,900, 000 28,900
2= -5 N& 480,532,383 507,068, 883 A 26,536,500
= 266,177,644
= 94,802,674
T 5,900,000
£ 113,652,065
220t ESAMHA Dl &S 480,532,383 507,068, 883 A 26,536,500
= 266,177,644
< 94,802,674
T 5,900,000
£ 113,652,065
Ogols &= 3,060,000 2,010,000 1,050,000
= 2,040,000
= 1,020,000
403 A X EHS =0l A 3,060,000 2,010,000 1,050,000
= 2,040,000
< 1,020,000
01 X SHHA2E= 3,060,000 2,010,000 1,050,000
ool &= 3,060,000, 000 3,060,000
= 2,040,000
< 1,020,000
oeloleldslsd 249 909,000 410,000 499,000
201 €24l 4,000 0 4,000
02 =224l 4,000 0 4,000
OUZE XHs0ls 2223 4,000,000 4,000
307 glz2+ol & 905,000 410,000 495,000
05 RIZteIE = 905,000 410,000 495,000
Ooglololdarsd 2 (A8H]) 205,000,000 205,000
OUIZXAH=0lE 2 (ot8HIl) 700,000, 000 700,000
E] EFAMAY X2 25,045,000 20,083,250 4,961,750




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 24,000,000 19,450,000 4,550,000
01 HIXNHHBHNEELES 24,000,000 19,450,000 4,550,000
OES S2AMAY N (HAULER S)
24,000, 000,000 24,000,000
403 MHXSHHSA=0l& 1,045,000 633,250 411,750
01 XM A= E L 1,045,000 633,250 411,750
O0eold &3 1,045,000, 000 1,045,000
A0 EX X3 A 103,500 103,500 0
403 MtXISHH S =0l & 103,500 103,500 0
01 X SHMA2E X 103,500 103,500 0
OLAL2AEE HENWROE &X
103,500, 000 103,500
Helold nd Exus 139,400 154,000 A 14,600
= 69,700
= 69,700
307 glz2tol & 139,400 154,000 A 14,600
= 69,700
< 69,700
05 RIZHRI & 3 139,400 154,000 A 14,600
OESnNAY B0= 139,400,000 139,400
= 69,700
< 69,700
SEHSIESSXNJALH 29 602,760 602,760 0
307 glz2+ol & 602,760 602,760 0
05 RIZt2IE = 602,760 602,760 0
OZE=0SEHANJAMEYE Xz 32,760,000 32,760
Ot E0tEHE =& At Y 270,000,000 270,000
OsdotolzIss 24 300,000, 000 300,000
NESOHEEXNIAHH 2L (MEAY) 520,508 770,508 A250,000
307 21201 A 520,508 520,508 0
05 RIZt2IEt = 520,508 520,508 0
OSE=S0EENJAEH 29 520,508, 000 520,508
NLSOISEXNHAH 2L (OIELSRIALY) 39,000 27,000 12,000
= 39,000
308 XX EHH SOl A 39,000 27,000 12,000
= 39,000
01 HXNHHBHELS 39,000 27,000 12,000
OJtg =AY XA 39,000, 000 39,000
= 39,000
sZ& 3S0l0IsS4dH 22 XN (01s4 =0/u4 152,000 152,000 0
29)
= 76,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

< 76,000

307 glz2tol & 152,000 152,000 0
2 76,000
< 76,000

05 RIZHRIEt 3 152,000 152,000 0
Ools4a =s0lnd 2¢Y 152,000, 000 152,000
= 76,000
< 76,000

ANZHH EsAY X2 1,014,000 917,738 96,262
2 780,000
< 234,000

307 21201 A 44,160 40,680 3,480
2 22,080
< 22,080

05 RIZt2IEt = 44,160 40,680 3,480
OAIZEH ESAY 22(0]2 22 44,160,000 44,160
= 22,080
= 22,080

308 AHXIEHHSOIA 969,840 877,058 92,782
= 757,920
< 211,920

01 HIXNHHNBMNELS 969,840 877,058 92,782
OAZHH B MY XI& 969,840,000 969,840
= 757,920
< 211,920

HRI0IE BFWM 366,000 595, 125 229,125
= 244,000
< 122,000

403 MtXISHH S0l & 366,000 595,125 N 229,125
= 244,000
= 122,000

01 XM A=2EE 366,000 595,125 A 229,125
Oogold JIs2 366,000, 000 366,000
= 244,000
< 122,000

BEDNA QAAY X 50,859, 109 50,859,109 0
= 40,147,700
< 10,711,409

308 XtXIEHH SOl A 50,859, 109 50,859, 109 0
= 40,147,700
= 10,711,409

01 HXNHHBHELS 50,859,109 50,859, 109 0
OFERXNANE0E 1Al 50,859, 109,000 50,859, 109
= 40,147,700
< 10,711,409

w




2N

=

= r
Hu: 28015 X8

=B

Ehel O B AHHIA JIB &3 (=& J)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
grot2szs N& 176,941,330 224,254,437 A47,313,107
2 146,635,000
< 30,306,330
308 AHAIEHHSOIA 176,941,330 224,254,437 A47,313,107
= 146,635,000
< 30,306,330
01 HIXNHHNBHELS 176,941,330 224,254,437 A47,313,107
Ogwot 23 XA 176,941,330,000 176,941,330
= 146,635,000
< 30,306,330
gus E2 X 16,335 17,528 A 1,193
< 5,335
£ 11,000
308 XXM SO A 16,335 17,528 A 1,193
< 5,335
£ 11,000
01 IXNHHBANEES 16,335 17,528 A 1,193
Oogl=s BEs=X& 16,335,000 16,335
< 5,335
£ 11,000
r3gssg XH 27,511,988 41,780,039 A 14,268,051
= 22,054,000
< 5,457,988
308 XHXI € M S0l & 27,511,988 41,780,039 14,268,051
=2 22,054,000
= 5,457,988
01 HXNHHNBHEELS 27,511,988 41,780,039 A 14,268,051
OoXtg === XA 27,511,988,000 27,511,988
= 22,054,000
< 5,457,988
ZDEHOBOIE KA (HEAY) 2,852,846 3,973,443 A1,120,597
308 XX EHSOIA 2,852,846 3,973,443 A 1,120,597
P EREES 2,852,846 3,973,443 A1,120,597
O3380god XA 2,852,846,000 2,852,846
FI2UHEHY 24 X 69,469 77,268 ANT,799
= 52,000
< 17,469
307 glz2tol & 5,340 5,340 0
= 2,670
< 2,670
05 RIZteIE = 5,340 5,340 0
OREZLIHEH 29 AHEI} 5,340,000 5,340
= 2,670
< 2,670




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 64,129 71,928 ANT,799
2 49,330
& 14,799
01 AIXSHMEMNEX= 64,129 71,928 ANT,799
OR2ILHES 29 & 64,129,000 64,129
= 49,330
=} 14,799
BuNAA HRIMH X 44 775,607 43,976,345 799,262
= 35,410,244
& 9,365,363
307 gizto| A 1,800,000 1,800,000 0
= 900,000
& 900,000
05 QIZtRES 1,800,000 1,800,000 0
OWUH™ A 21 A48 1,800,000, 000 1,800,000
= 900,000
= 900,000
308 XX SHAHSOIH 42,975,607 42,176,345 799,262
= 34,510,244
o= 8,465,363
01 AIXSHMENEXZ 42,975,607 42,176,345 799,262
OAZ A DR AF Q1 2AH| 1,995,730,000 1,995,730
= 1,590,800
= 404,930
OBZXWA X (2I2H) 22,326,712,000 22,326,712
= 17,984,344
= 4,342,368
OURAZ2EHIMA I 14,085, 182,000 14,085,182
= 11,306,100
& 2,779,082
OWAIE A2 E XI&d| 638,958,000 638,958
= 518,000
= 120,958
OsHEEFWAI EE€224+Y  3,929,025,000 3,929,025
= 3,111,000
& 818,025
WE Xes0lSs ASAIAH (HEAY) 2,006,810 5,860,000 3,853,190
405 XHAHF S HI 2,006,810 0 2,006,810
01 AL 2 ZF S| 2,006,810 0 2,006,810
OUWEXA=0E 28 € xHIHIS & +
ol y| 2,006,810,000 2,006,810
Helo|ld S X& 2,232,200 2,232,200 0
= 1,771,000
== 461,200
308 AHXIEHSOIA 2,232,200 2,232,200 0
= 1,771,000




2N

X{ XH -
S =

oF EsAHIA DB & (&2 &)
S .9 (3H) - By O Ak o8 ﬁlf& HD=2

== 461,200

01 HXHHNBIMNEXTS 2,232,200 2,232,200 0
OHeold WiHw+ 705,200,000 705,200
2 568,000
& 137,200
ONeold 29| 1,345,654,000 1,345,654
= 1,062,000
= 283,654
OsHEAM ol & 181,346,000 181,346
2 141,000
= 40,346

HROSESXNJHH HE 6,643,140 0 6,643, 140
& 743,140
TH 5,900,000

401 AIEHIL 20| 6,643,140 0 6,643, 140
= 743,140
TH 5,900,000

01 A& Hl 5,925,700 0 5,925,700
OSEROISEXNJHH HE 5,925,700,000 5,925,700
= 25,700
TH 5,900,000

02 22l 702,954 0 702,954
Osd=0sEXN Pag=! 702,954,000 702,954

03 A& E2HH]| 14,486 0 14,486
OsE=R0ISEXNSE Pal= 14,486,000 14,486

Selld 28 XN 113,641,065 108, 197,633 5,443,432
£ 113,641,065

308 AXISHXSOoIH 113,641,065 108, 197,633 5,443,432
£ 113,641,065

01 AXHNNBMNEXZ 113,641,065 108, 197,633 5,443,432
OFcltd 58 113,641,065, 000 113,641,065
£ 113,641,065

Aot XA 21,031,316 0 21,031,316
= 16,859,000
& 4,172,316

308 AXISHAMSOIA 21,031,316 0 21,031,316
= 16,859,000
== 4,172,316

01 HXHHNBIMNEXS 21,031,316 0 21,031,316
Oogots=4 XA 21,031,316,000 21,031,316
= 16,859,000
= 4,172,316

SN 202,489,251 175,880,629 26,608,622
= 129,862,056
Jl 1,500,000




EXN: SHESFH
HM: OlsSSASA
ool OlSEY ZRME X CER-ED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 64,719,895
£ 6,407,300
OlSsa Z2ME F&X 202,489,251 175,880,629 26,608,622
= 129,862,056
J| 1,500,000
& 64,719,895
£ 6,407,300
olss+% XI& 123,516,114 116,657,711 6,858,403
= 103,849, 139
& 19,666,975
308 AHXIEHMSOIA 123,516,114 116,657,711 6,858,403
= 103,849,139
== 19,666,975
01 AIXSHMEAMNEX= 123,516,114 116,657,711 6,858,403
Oolsx==220dX2 123,516, 114,000 123,516,114
= 103,849,139
=} 19,666,975
K REA AFSIHl X (0tS44) 13,141 25,500 N 12,359
= 10,822
= 2,319
308 ANXICSHHMSOIA 13,141 25,500 AN 12,359
= 10,822
= 2,319
01 XHHIMNEXZ 13,141 25,500 AN 12,359
OXXHM AISH X (0ts4E) 13,141,000 13,141
= 10,822
& 2,319
NEolsEsdEINIS 89 2,901,840 2,597,192 304,648
= 1,423,204
= 1,478,636
307 212t0| & 2,901,840 2,597,192 304,648
= 1,423,204
o 1,478,636
10 M SXNANEEHESIHEX 2,901,840 2,597,192 304,648
OXNYotsEsdE) & 29 2,901,840,000 2,901,840
= 1,423,204
& 1,478,636
StHOloiOlsa s &9dl, o2Adl, AFEH| 2,008,594 628,775 1,379,819
= 1,147,762
& 860,832
308 XX G SO|A 2,008,594 628,775 1,379,819
= 1,147,762
& 860,832
01 AIKSHHEMNEX= 2,008,594 628,775 1,379,819
Osttiuloiotsae 29 X 2,008,594 ,000 2,008,594
= 1,147,762




AN SUESIEHY
3 orssNsd
©9: OtSslYy ZRME XX (crel: @ el)
= - = s
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
| T 560,632
Ssuloiots &l AreXl 240,030 457,625 A217,595
= 137,160
< 102,870
403 X SHHSA=01H 240,030 457,625 A217,595
= 137,160
& 102,870
01 HASHH =R E 240,030 457,625 A217,595
Ostimloliots&EE =4 240,030,000 240,030
2 137,160
== 102,870
2EsS0ts 0188 223 1,745,959 1,190,250 555,709
= 1,163,972
= 581,987
308 XXM SO0l & 1,745,959 1,190,250 555,709
= 1,163,972
= 581,987
01 XM BaE2ES 1,745,959 1,190,250 555,709
OREs0ls 188 29 1,745,959,000 1,745,959
= 1,163,972
& 581,987
JAEXS0tS MHEXS 130,074 145,755 A 15,681
2 115,255
£ 14,819
308 XXM S0l ™ 130,074 145,755 A 15,681
= 115,255
S 14,819
01 HXAHHZEES 130,074 145,755 215,681
OZ3AEXsOtS AHEXSH 130,074,000 130,074
= 115,255
= 14,819
BSEE0E NP2 X 1,377,720 1,083,600 294,120
2 1,281,600
= 96,120
308 XXM SO0l H 1,377,720 1,083,600 294,120
= 1,281,600
S 96,120
01 XM BaE2ES 1,377,720 1,083,600 294,120
25820 AN+ XNE  1,377,720,000 1,377,720
= 1,281,600
£ 96,120
OFS=EXAE JIs2H 251,505 821,535 /570,030
= 167,670
= 83,835
403 TtXI M SA=01A 251,505 821,535 /570,030
= 167,670




SN BUHESEYDY
HM: OlsSSASA
©9: OtSslYy ZRME XX ECR-E)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 83,835
01 XIS A=Z2E X 251,505 821,535 A 570,030
OOtss XA JIs2d 251,505,000 251,505
= 167,670
o= 83,835
XNAOtSHEH ANEXNIY 299 168,000 168,000 0
= 50,332
= 117,668
307 QI2t0| & 168,000 168,000 0
= 50,332
& 117,668
05 QIZtREZ 168,000 168,000 0
OXYGotsdH ANZXNEt 29H 168,000,000 168,000
= 50,332
& 117,668
XNEotsHdEH 294 A3 12,219,714 11,724,223 495,491
= 9,399,780
& 2,819,934
308 AHXIEHSOIA 12,219,714 11,724,223 495,491
= 9,399,780
= 2,819,934
01 AIXSHMENMNEX= 12,219,714 11,724,223 495,491
OX<EotsHdyH 294 N 12,219,714,000 12,219,714
= 9,399,780
=} 2,819,934
S5 XNYOISHE =K 435,240 422,027 13,213
= 334,800
& 100,440
308 X+ Xl £ X S0l & 435,240 422,027 13,213
= 334,800
& 100,440
01 IXHHNIMNEXS 435,240 422,027 13,213
OE4H8 XNE0lsHE FIHXE 435,240,000 435,240
= 334,800
= 100,440
XNEotsHE sAdad XI& 188,500 214,500 A 26,000
= 145,000
o= 43,500
403 XX S M S K201 & 188,500 214,500 A 26,000
= 145,000
=} 43,500
01 AIXISHHMA2E X 188,500 214,500 A 26,000
OX<E0otsHdH SHM&H A& 188,500,000 188,500
= 145,000
& 43,500

«©




SN BMESEHD
g ots=Xsd
el 0lSEY ZRME £ (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ots=X WA OtAXA 2,177,302 2,127,160 50,142
= 1,674,848
< 502,454
308 AHAIEHHSOIA 2,177,302 2,127,160 50,142
= 1,674,848
< 502,454
01 HIXNHHNBHELS 2,177,302 2,127,160 50,142
OO0ts=S X WA It XI& 2,177,302,000 2,177,302
=2 1,674,848
< 502,454
FHAHNE OlsSEMEIA XA 3,714,899 3,867,243 N 152,344
= 3,455,720
< 259,179
308 XXM SO A 3,714,899 3,867,243 N 152,344
= 3,455,720
< 259,179
01 AXHHILEES 3,714,899 3,867,243 A 152,344
OF%ANE OISSSFMEIA XNA(SYAEE)
3,714,899, 000 3,714,899
= 3,455,720
< 259,179
=23 dged & 916,158 343,450 572,708
= 852,240
< 63,918
308 XX EHH SOl 916,158 343,450 572,708
= 852,240
< 63,918
01 IXNHHBNEES 916,158 343,450 572,708
Ots=EsdgRd 22| 916, 158, 000 916,158
2 852,240
< 63,918
AA0ISIHEXN A 1,234,561 1,196,359 38,202
= 1,093,915
< 140,646
308 XtXIEHH SOl A 1,234,561 1,196,359 38,202
=2 1,093,915
< 140,646
01 X HHILEES 1,234,561 1,196,359 38,202
Qeots =+ XA 1,119,229, 000 1,119,229
= 991,722
= 127,507
OZMYLols dREXS N 54,502,000 54,502
= 48,293
< 6,209
Ogd=edizt 22X XA 1,659,000 1,659
= 1,470




SN BUHESEYDY
g ots=Xsd
©9: OtSslYy ZRME XX ECR-E)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 189
ogadlE XA 59,171,000 59,171
= 52,430
< 6,741
QLI EOS delxlzg X& 33,000 33,000 0
= 23,100
< 9,900
307 21201 A 33,000 33,000 0
=2 23,100
< 9,900
11T MISXASEX 33,000 33,000 0
QUYNEEOts delxlz XI& 33,000,000 33,000
= 23,100
< 9,900
IEASE 0 doi2gE NE 42,401 38,497 3,904
= 29,681
< 12,720
201 Let249H] 42,401 38,497 3,904
= 29,681
< 12,720
02 =24l 42,401 38,497 3,904
OJtZ 2 Ells doi28z X& 42,401,000 42,401
= 29,681
< 12,720
d2Ools23Hl XA 94,800 0 94,800
2 84,000
< 10,800
308 XX EHSOIA 94,800 0 94,800
= 84,000
< 10,800
01 IXNSHHBNEES 94,800 0 94,800
OdIotEs=23Hl XA 94,800,000 94,800
= 84,000
< 10,800
OHESEPAUY N 7,900 0 7,900
= 7,000
< 900
308 XtXIEHH SOl A 7,900 0 7,900
= 7,000
< 900
01 AXHHILEES 7,900 0 7,900
OtsEZ74l X& 7,900,000 7,900
= 7,000
< 900
Ots2E XA ANXNSHIYSEX 3,323,632 1,433,175 1,890,457
= 2,944,990




SH: BMESEMY
g ots=Xsd
©9: OtSslYy ZRME XX ECR-E)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 378,642
308 XXM SO A 3,323,632 1,433,175 1,890,457
= 2,944,990
< 378,642
01 IXNHHBNEES 3,323,632 1,433,175 1,890,457
OOtsZLEXNZAR NXNHHILEE
3,323,632,000 3,323,632
= 2,944,990
< 378,642
sl E€dZE5Y g4lH N3 5,590,000 5,590,000 0
£ 5,590,000
308 XX EHH SOl A 5,590,000 5,590,000 0
£ 5,590,000
01 HXNHHNBMNEES 5,590,000 5,590,000 0
OBJIZE ELZHEYL SAH N
5,590,000, 000 5,590,000
£ 5,590,000
dEIJ S+ 23,008,200 14,754,360 8,253,840
201 £B-2dH| 15,000 18,360 A 3,360
01 At 22/l 15,000 18,360 A 3,360
od=lls+g 29 15,000, 000 15,000
308 XXM SO0 A 22,993,200 14,736,000 8,257,200
01 IXNHHBNEES 22,693,200 14,436,000 8,257,200
Oog=3s8=g N& 22,693,200,000 22,693,200
1132 SoHUHSI S EAE ALS HI 300,000 300,000 0
Od=I|8+Y MLAIAE 2 300,000,000 300,000
ZA0ts S4d X & 7,192,447 3,994,741 3,197,706
J| 1,500,000
S 4,875,147
£ 817,300
308 XX EHHSOIA 7,192,447 3,994,741 3,197,706
Jl| 1,500,000
< 4,875,147
£ 817,300
01 HIXNHHNBNEES 7,192,447 3,994,741 3,197,706
OZAlots =4l X 7,192,447,000 7,192,447
J| 1,500,000
< 4,875,147
£ 817,300
dEoty X 542,785 486,357 56,428
308 XXIEHHSOIA 542,785 486,357 56,428
01 AXHHILEES 542,785 486,357 56,428
O0ts MEotH X3 (ZZ) 328,685,000 328,685




SN BUHESEYDY
g ots=Xsd
©el: OlSsY meME XX (el @2)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&Aa&z0ts NHEEH= NE 191,700,000 191,700
OFZ/EIIE 52X NE 7,400,000 7,400
OFdEE g&Z=o=a XA 15,000, 000 15,000
stsstd &4 440,106 466,784 N 26,678
308 XXM SO0l A 440,106 466,784 N 26,678
01 IXNHHBNEES 440,106 466,784 N 26,678
Oots sssd NE(Z) 233,330,000 233,330
OXS0otSHH X3 (EZR) 186,776,000 186,776
OsY 9A 201 & o8 F24d III Z2
L= 20,000, 000 20,000
ot & el s 417,972 464,413 A46,441
307 gl2tol & 232,650 258,500 A 25,850
11T M 2XALSE EX 232,650 258,500 A 25,850
Ootsttgsd K& 160,650, 000 160,650
Oo0tssttio e XI& 72,000,000 72,000
308 MtXIEHSOIH 185,322 205,913 A 20,591
01 HXNHHNBHELS 185,322 205,913 A 20,591
O0ts HASA L INEY NA(ZZ)
185,322,000 185,322
Ots 2+& &AL XI& 20,000 0 20,000
307 21201 A 20,000 0 20,000
11T M3 SRASEEX 20,000 0 20,000
OotSt2 s (0 olg At 20,000, 000 20,000
Ots=XAE & J12 - 2H 28 XN& 5,008,606 3,357,260 1,651,346
307 gl2tol & 705,228 781,260 AT76,032
03 QIZtHNHE2HHEX 256,500 327,740 AT1,240
OZdla 29 XA 256,500,000 256,500
10 ALSISXAIEEE2EHEX 448,728 453,520 A4, 792
OsEIIEEXNdH 29 X&
448,728,000 448,728
308 XXM SOIA 4,130,378 2,528,000 1,602,378
01 IXNHHBNEES 4,130,378 2,528,000 1,602,378
O0ts2d=sAld 2g4 N& 3,308,409, 000 3,308,409
O0tsLAESAIE 28 XNI& 821,969,000 821,969
403 UHXISHHSA=0l& 173,000 48,000 125,000
01 HXSHMA2E X 173,000 48,000 125,000
OOsS=XAE JIsE2ZAY 122,000,000 122,000
OXd0otsdH s JINM 2 AME 22 3A
51,000, 000 51,000
Ots=XAIE SAX X L A3t 721,697 645,893 75,804




SN BMBSINY
HM: OlsSSASA
o9l OlS5Y ZRME xX (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
307 2Iz2to| & 146,970 150,005 N 3,035
11T AISIEXAIEEX 146,970 150,005 N 3,035
OXNYOtsSHEH SAAN g XS 15,300,000 15,300
O0lsSEX 23 J|2 - S SALR HRIHE(
=) 131,670,000 131,670
308 XNXIGHHM SO0l & 574,727 495,888 78,839
01 IXHHIMNEXS 574,727 495,888 78,839
QltSEXAIE(ME 2L 0l2) SAXN HARHA
(AlIZ) 574,727,000 574,727
OlSE2XAIE ESAPAF @24 =0 X & 1,733,708 532,076 1,201,632
308 XHXIEH SO0l & 1,733,708 532,076 1,201,632
01 AIKISHHENEXZ 1,733,708 532,076 1,201,632
Oots=EIlAE(0EE & XNY0otsHE)SAA
OlAHl =IJHX& 1,733,708,000 1,733,708
OlsE2s 8& zH A3 165,750 165,000 750
201 B9 4,250 0 4,250
01 AP 22| H| 4,250 0 4,250
O0lsEX/ds & 89H 249 4,250,000 4,250
307 QI2t0| & 136,000 135,000 1,000
11T A EXAIEEX 136,000 135,000 1,000
Ostiimcholts Y2 AelXls Y Atdlel
136,000,000 136,000
402 SI2FXHE20| & 25,500 30,000 A 4,500
03 QI 2t EF AN HI 25,500 30,000 A4 500
OXg0tsESdI2DN & JisEd 25,500,000 25,500
OlSSXAE SAA HLHH 259,500 0 259,500
307 QI2t0| ™ 57,000 0 57,000
10 Al SEXNANEEHESIHEX 57,000 0 57,000
OOSEXALE ZSAA HHEZAH XR(E)
57,000,000 57,000
308 MXISHMSOIA 202,500 0 202,500
01 AXHHIMNEXS 202,500 0 202,500
OOSEXIAE ZSAR HAZAH X (AI2)
202,500,000 202,500
Bs&E=20ls MNEXNE HAH 2= 400,396 0 400,396
= 320,316
& 80,080
307 gizto| A 400,396 0 400,396
= 320,316
& 80,080
11T AISIEXAIEEX 400,396 0 400,396




SN BUHESEYDY
3 orssNsd
ool OlSEY ZRME X CER-ED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OESE20s MEXNH HMA 2=
400,396,000 400,396
= 320,316
= 80,080
OlSSttH A =F:E H4dEH StAIXA 97,500 0 97,500
= 75,000
S 22,500
403 TUXISHHSA=01H 97,500 0 97,500
= 75,000
< 22,500
01 HASHH =R xE 97,500 0 97,500
OIS EA =5 = HLTY AL
97,500,000 97,500
= 75,000
S 22,500
HE delllzdH 23 149,500 0 149,500
= 74,750
< 74,750
307 212t01 & 149,500 0 149,500
= 74,750
S 74,750
AR S XA E X 149,500 0 149,500
ONg delxgdy 24 149,500,000 149,500
= 74,750
= 74,750
MEat tHH =2 36,705,416 15,953,671 20,751,745
=2 19,997,312
Jl 620,120
= 15,729,199
£ 358,785
M= & =& 36,403,016 15,593,671 20,809, 345
= 19,997,312
Il 620,120
= 15,426,799
£ 358,785
HdEoel EMHIEXHA 59,250 59,250 0
= 52,500
T 6,750
308 XXM SO0IH 59,250 59,250 0
2 52,500
= 6,750
01 XM BaE2ES 59,250 59,250 0
OW&HMe SIS 59,250,000 59,250
= 52,500
S 6,750
MEM 5 ASAUE 2 39,496 39,496 0
= 27,647




SN BUHESEYDY
Mo HEM O =X
S M= UM =8 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 11,849
307 glz2tol & 39,496 39,496 0
= 27,647
< 11,849
02 It M AHE X 39,496 39,496 0
OME4 = A3l UZS 2F 39,496,000 39,496
= 27,647
< 11,849
MEdt 22 AH AFY 243,605 109,050 134,555
201 et 150,000 60,600 89,400
01 At 22l 150,000 60,600 89,400
odisst € =NE3M g2 120,000,000 120,000
OMEsL 28 3™ ¢33 2 30,000,000 30,000
307 glz2tol & 50,000 0 50,000
02 IZtE M AMHEE 50,000 0 50,000
OMsd =25 4@ AJH ws 50,000,000 50,000
308 XXl EHH SOl A 43,605 48,450 A 4,845
01 X HHILEES 43,605 48,450 A 4,845
OMEsA 25 AHE MY XI& 43,605,000 43,605
S DSt E Atz etE =4 162,126 189,550 N2T,424
201 ¢er24] 100,000 153,825 A 53,825
01 At 22l 100,000 163,825 A 53,825
OotolzIRI 22 8¢ 82 100,000, 000 100,000
307 glz2tol & 28,126 31,225 A 3,099
02 IZtE M AHEE 22,032 24,480 A2,448
OsdzstAE Malgtd =d 2 11,016,000 11,016
OXEE 7u=s 11,016,000 11,016
08 OIXt2& = 6,094 6,745 A 651
Ooget® 2izgel 8= 0lA XI& 6,094,000 6,094
308 XtXIEHHSOIA 34,000 4,500 29,500
01 HIXNHHNBHELS 34,000 4,500 29,500
OUSs0l g0t HEZY =010 NJA(ZUEA)
9,000,000 9,000
Osd & s0t23 & 25,000,000 25,000
LR T (MEAY) 1,280,983 1,398,627 A117,644
308 A EHHSOIA 1,280,983 1,398,627 A117,644
01 HXNHHNBMNEELS 1,280,983 1,398,627 A 117,644
OS2 A=l X2 1,280,983, 000 1,280,983
HYRE NJAAS 61,277 68,085 N 6,808
308 XXM SO0l A 61,277 68,085 A 6,808
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 61,277 68,085 N 6,808
YRR Y= H N 61,277,000 61,277
HEEZUBHE HA 13,200 13,200 0
J| 8,800
< 4,400
308 XXM SOIA 13,200 13,200 0
J| 8,800
< 4,400
01 AXHHILEES 13,200 13,200 0
OZ2X=Ed+=8 HM& X& 13,200,000 13,200
J| 8,800
S 4,400
HELUAOIA ZAL 2 &ot2tel 195,000 163,500 31,500
J| 130,000
< 65,000
308 MtXIEHSOIH 195,000 163,500 31,500
J| 130,000
= 65,000
01 HXNHHBHEES 195,000 163,500 31,500
O EUHAIOI A 2 A ¥ E0otatel
195,000,000 195,000
J| 130,000
< 65,000
Ol=s0t & H4&40la0t 2=Hl X 310,500 271,500 39,000
J| 207,000
< 103,500
308 MtXIEHSOIH 310,500 271,500 39,000
J| 207,000
< 103,500
01 HXNHHMBHEELS 310,500 271,500 39,000
Ofl=0t & d&d40la0t 2 =Hl X
310,500, 000 310,500
J| 207,000
< 103,500
A RI|RH 30,000 16,500 13,500
J| 20,000
< 10,000
308 XXIEHHSOIA 30,000 16,500 13,500
J| 20,000
< 10,000
01 AXHHILEES 30,000 16,500 13,500
Ol M0F &H™ XDI| & 30,000, 000 30,000
J| 20,000
= 10,000
AFQAMOE A 2] XA (H ALY ) 7,898,605 7,898,605 0
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 7,898,605 7,898,605 0
01 AIXSHMENMNEX= 7,898,605 7,898,605 0
OALD AT MO A22tel K& ALY
7,898,605,000 7,898,605
MBEXR2ER0 28z XS 436,050 484,500 A48 ,450
308 XX SHHSOIH 436,050 484,500 N 48,450
01 AIXSHMENMNEXZ 436,050 484,500 N 48,450
OdEx2E20 =2osgz Xd
436,050,000 436,050
HAGMD AASA o=l NS 45,750 30,000 15,750
J| 30,500
= 15,250
308 MXISHMSOIA 45,750 30,000 15,750
J| 30,500
= 15,250
01 AIXSHMENEXZ 45,750 30,000 15,750
OFAEAD AANEA OS2 H| X
45,750,000 45,750
J| 30,500
o 15,250
DA AMES 2 H XN 286,500 270,000 16,500
J| 191,000
= 95,500
308 MXISHMSOIA 286,500 270,000 16,500
J| 191,000
& 95,500
01 IXHAHIMNEEXTZ 286,500 270,000 16,500
OIS AE o2 H| XA 286,500,000 286,500
J| 191,000
& 95,500
S0HF X XS AIS 900,000 900,000 0
= 600,000
== 300,000
308 AHXIEHSOIA 900,000 900,000 0
= 600,000
== 300,000
01 AIXSHMEMNEX= 900,000 900,000 0

150,000, 000& 150,000
= 100,000
< 50,000

750,000,000& 750,000
= 500,000
& 250,000
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XA & ZHESF NS 1,858,650 1,251,000 607,650
= 1,239,100
< 619,550
308 AHAIEHHSOIA 1,858,650 1,251,000 607,650
= 1,239,100
< 619,550
01 HIXNHHNBHELS 1,858,650 1,251,000 607,650
OJIHH & =H=28 N 1,858,650, 000 1,858,650
= 1,239,100
< 619,550
S3N=xed HEg € 29 N 300,000 200,000 100,000
308 XXM SO0l A 300,000 0 300,000
01 IXNHHBNEES 300,000 0 300,000
OsEsEd 23¢=xcd 29 XN&
300,000, 000& 300,000
SUEA X0y XA 49,230 43,050 6,180
J| 32,820
< 16,410
308 XX EHSOIA 49,230 43,050 6,180
J| 32,820
= 16,410
01 HIXNHHBNEES 49,230 43,050 6,180
ORXEA Bx0y X 49,230,000 49,230
J| 32,820
< 16,410
CLEEH =3 Mg 1,143,454 743,067 400,387
= 879,580
< 263,874
308 XXIEHH SO0l A 1,143,454 743,067 400,387
= 879,580
< 263,874
0 HXSHBARES 1,143,454 743,067 400,387
OCUEN ssdH 2Adl XI&  1,143,454,000 1,143,454
= 879,580
< 263,874
ChetHssdE 238 XN 77,610 50,895 26,715
= 59,700
< 17,910
308 MtXIEHSOIH 77,610 50,895 26,715
= 59,700
< 17,910
01 HXNHHBHELS 77,610 50,895 26,715
OohgNssdH 28X 77,610,000 77,610
= 59,700
< 17,910
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OGEeNssdH &X4 X 210,000 262,500 A52,500
= 180,000
< 30,000
403 UHXISHHSA=0l& 210,000 262,500 A 52,500
= 180,000
< 30,000
01 HXESHMA=LE L 210,000 262,500 A 52,500
OUgN=ssH6H X4 XA 210,000,000 210,000
= 180,000
< 30,000
CGEeNssdE X X (=83 56,000 0 56,000
= 50,000
< 6,000
403 MtXISHH S0l & 56,000 0 56,000
= 50,000
< 6,000
01 AXSHMA=2E X 56,000 0 56,000
OUENssSHdH XX (=83
56,000, 000 56,000
= 50,000
< 6,000
EHE 2ELSSAMY 29 1,250,720 1,131,296 119,424
< 950,720
£ 300,000
308 XX EHH SOl 1,145,720 1,012,296 133,424
< 845,720
£ 300,000
01 IXNHHBNEES 1,145,720 1,012,296 133,424
Osds 2&5gssdH 29 240,720,000 240,720
Osdd 28 isgt=s=s N2
800,000, 000 800,000
< 500,000
£ 300,000
O=Ed =sSsuy A% 24 75,000,000 75,000
Os=s4dH gs2s Z278 X
30,000, 000 30,000
403 UtXSHHSA=0l& 105,000 119,000 A 14,000
01 HXSHMA=E X 105,000 119,000 A 14,000
OsEE 2sdssdH =5 105,000, 000 105,000
stEsH 2Hd XA 81,570 0 81,570
= 40,785
£ 40,785
308 XXM SO A 81,570 0 81,570
= 40,785
£ 40,785
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01 HIXNHHNBHNEES 81,570 0 81,570
OstussH o8l XA 81,570,000 81,570
= 40,785
£ 40,785
StWEsSH JIE29H X2 36,000 0 36,000
= 18,000
£ 18,000
308 XXIEHH SOl A 36,000 0 36,000
= 18,000
£ 18,000
01 AXHHILEES 36,000 0 36,000
Ostu==H JIEt23Hl X& 36,000,000 36,000
= 18,000
£ 18,000
CHENSSHE SAML dRHL 42,840 0 42,840
308 MtXIEHSOIH 42,840 0 42,840
01 HXNHHBHELS 42,840 0 42,840
OUENESSHE SAL ZHz4H X
12,600,000 12,600
OUENESHE SAXN MM X2
30,240,000 30,240
Hotg olgd X 19,034,600 0 19,034,600
= 16,850,000
= 2,184,600
308 XX EHHSOIA 19,034,600 0 19,034,600
= 16,850,000
< 2,184,600
01 AXHHILEXS 19,034,600 0 19,034,600
Oozgtg olgd XA 19,034,600, 000 19,034,600
= 16,850,000
< 2,184,600
QIREAMII=HE =8 300,000 0 300,000
207 O & H] 300,000 0 300,000
01 2284 300,000 0 300,000
OF& J|2H & 8 (2023~2027)H 722
300,000, 000 300,000
Xt It X& 302,400 360,000 A57,600
CXtd 288 dgEs X 114,000 97,500 16,500
308 XX EHH SOl A 114,000 97,500 16,500
01 X HHILEES 114,000 97,500 16,500
OOXYH 288 HgEs X3 114,000, 000 114,000
CHAtE & &= A2t K& 188,400 262,500 AT4,100
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